@35 fBIFE A

B (p35) DELSIC. Bl =0slC, DR 0 HSIIHAEINBIDBEIC RS, T
BIFHUE, ENNEEOARZSEgE LT, ROBNICEZL,

(1) HMEBDREROEIHERDK.

(2) BRI BETIOKEHBICKET DB (71@@&&5%&) DERDK,

sho
(1) ﬁiij\lfi& ) t-= 2x-~§ 253,
U'&z ’UB"— %»-t ?'}. ;= UnI t l;‘):
29,30
0= VeSO -31 D = U,s8 x -
% —’lé%(z"" 29 b 05O
L A A A A D = g-
Y-y U 39T 2.
1,5h0 bssw
H = %psm6- —o— —5 Vs sz20
| D= — g
b Vi she
< 5 2 g_ \‘\
i Yo SWO
- 23

(&4

(RE) v, ' —EDES. KIBZEERHNBAICEDDEINE DEEH,
214 SD (05O

Doy = 2T

+ W
B’ TR 18 Do 7

L1

Vo sn20
= ——_—”—A————‘
D@ 3
{(a) = S‘D/\Ze
T T'(—_kl—t 29

P35 FEA

BEX98m OmHD. A 30°OBEIC 9.8 m/s DRE TNRERITHUEZ, ENIRE
DAZEE 98 m/s® E LT, ROBNCEZL.

1) BERDOHENSDEIEE m DY,

2 WEICSETDOREITEHE U THSE s BH,

(3) HWEICETDETICKERDDICTHEENT DEERESD m DY,

A~ "52'&! QU\,_O
{ W

;: /U} UD‘E;" = -2%‘3
N (?8@?0; = —28 %
\L, ‘1.8 . ?, =398 <% .
4.8 g;m
T T 3
H= 48+ L 22% :’e
= H\ozg \;’l = L==s IZ,
Ll -
| 2
() - d=ugt- ¢t QR
e G (.97
-48= 44t - w11 -48x 7 x2 o
2=t = 98102 3L
{"-1-220 He'y
. =16.95% (55 e
(t-2)(t+1) 70 | 1695
1-2.0s1% [ 7w
— —F
FrlL Y|

30



